MAT 201, Exam #1, Fall 2016 Name ’<E\{

Instructions: Show all work. Answers without work required to obtai

in the solution will not receive full

rall of them. Give exact answers

credit. Some questions may contain multiple parts: be sure to answer a
unless specifically asked to estimate.
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2. Find an equation pf the sphere with endpoints of a diameter at (2,1,4) and (4,3,10). (3 points)
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4. Find the volume of the parallelepiped determined by the vegtors (4,2,2), (3,3, —1), (5,5,1). (3 points)
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5. Consider the vectorw = [ + V3j. Find the magnitude and angle between the vector and the
positive x-axis. Use that inforrnation to write the vector in polar form. (3 points)
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6. Find an equation of the line through (1, —1,1), parallel to x # 2 = 1y = z — 3. Write your

T Z
equation in vector-valued form. (3 points)
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7. Find an equatioq of the plane containing the point (2,0,1) and parallel to the plane 5x + 2y +

z = 1. (3 points)
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8. Use intercepts tT graph the plane 3x 4+ y + 2z = 6. (3 point§)

9.

(2,0,0)
((3; &’10)
(0,0,3%)

Identify the quac%lnc surface, sketch or describe the graph ingluding the orientation. (2 pomts each)
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10. Rewrite the equétion z = xy in (3 points each)
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11. Rewrite the equations in rectangular coordinates. (3 points each)
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12. Find a parametric equation that represents the intersection of x* + y? = 4 and z = xy. (5 points)
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13. Sketch the graph of 7#(t) = ti + e'j + cost k. Plot at around 10 points. (10 points)
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14. Find the domain|and range of the function f(x,y) = x + In(12 — 2x — 3y) write in proper set
notation. (5 points)
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15. Draw the trace of the graph f(x,y) = Flwz on the plane ¥ = 0 and y = 0. What do the level
curves look like? (6 points) 2
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16. Match each function to its set of level curves. (2 points each
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18. Match the graph to its equation. (2 point each)
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19. Find a parametric equation for the part of the cylinder y? +|z? = 16 betweenx = 0,x = 5. Be
sure to state thq bounds on the variables. (6 points)

) ‘
| v+ 40_@0(}.1‘ + 4sinw ke

O £(L52T) O%VES




7 e e S S O

p fffffffffffffffffffff —

Bliessr oo ®brmorsesenen

ettt biid Sl

2

el B P T B T I T S S A

et 4

P EH 4

A=l 2 Sile S Bl & ki B R Be s ik e & Sets

= I A R

Bl e E

m...le-;-:-all-,uu- =

il e Sl= =

e e ﬁo‘w 1=
=

e e 5 i
= &
- =
& ®
T T PR A AN LY HEE T
SRS AN iy @
Gl s ome T remoe it 0 R ALY | LY ANS S 4o
o’ _‘_ Ll te g n rH”»M..\.A\\\.\-\\..\. L5 SF S M_ J ¥ A% A / = <~ \w
=Ry Sy e R VREMYT ~ = B o
LY/ : PUNY T =
Sy Mn o | e
SV N~ + x0Tt
= ¥ 3 PR I
1)
] B rx 8
© T ARl Aa T
i m 9
bt ~ =
@ ama - 2
2 = = = = P
= o D W /o)
5] The, The, The,  The, =
Ba] ; —_—
© =
M o © . e %
S - 3 : 3
~ - == 2 m
o
vy




